
PRESTORMINGTM 2021 
MOCK TEST 2 (SOLUTION)  

 

 

1.   Correct Answer D 

EXPLANATION: 
Social Democracy 

• It is described as advocating economic and social interventions to promote social  justice 
within the framework of a liberal-democratic polity and a capitalist-oriented mixed economy 

• It is the political ideology that originally advocated a peaceful evolutionary transition of 
society from capitalism to socialism using established political processes. 

• In the second half of the 20th century, there emerged a more moderate version of the doctrine, 
which generally espoused state regulation, rather than state ownership, of the means of 
production and extensive social welfare programs. 

• Thus social democracy aims a middle path with a mixed economy to benefit the working 
class within the framework of capitalism 

• It does not aim to de-regulate the total control of the economic system and also it does not 
aim at abolishing private property. 

So, option (d) is correct. 
 

2.   Correct Answer D 
Option elimination strategy 

Prime meridian passes through England. Black sea is away from England. Thus option (c) can be 
eliminated. 

 
EXPLANATION: 
The IRM prime meridian passes through many seas and oceans: the Arctic Ocean, the Greenland 
Sea, the Norwegian Sea, the North Sea, the English Channel, the Mediterranean Sea, the Atlantic 
Ocean and the Southern Ocean. So option (d) is correct. 

  
ADDITIONAL INFORMATION: 

 
3.   Correct Answer A 

EXPLANATION: 
A carbon flux is the amount of carbon exchanged between  Earth's carbon  pools such  as the oceans, 
atmosphere, land, and living things. It is typically measured in units of gigatonnes of carbon per year. 
So, option (a) is correct. 
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